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EXAMINATION 2017, GRADE 8

Version 2

MATHEMATICS PART — B (Subjective Type)

RUBRICS

Note: If students use any other correct method thethey will be awarded full marks.
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Q.No.33. (a) If A={1,2,4,5,6}, B={3,4,5,6} and C={8,8,9,10} then show that (5)
ANn(BNC) = (AnB)NC
AN(BNC) = (ANB)NC S/ =t 7 C={6,7,8,9,10}» B={3,4,5,6}, A={1,2,4,5,6)
BNC = {6} 1 Mark
AN(BNC) = {6} 1 Mark
ANB = {4,5,6} 1 Mark
(ANB)NC = {6} 1 Mark
ANn(BNC) = (ANB)NC 1 Mark
(b) Find the square root of 10 upto 2 decimal place -q/r}%zg.f,/wui 2610 (5)
3.162
3 10.000000
-9 1 Mark
1.00
01 -0.61 1 Mark
6.6 0.3900
- 0.3756 1 Mark
0.014400
6.322 - 0.012644 1 Mark
0.001756
J10= 3.1¢€ 1 Mark

(1234) +{335 — (10113}

(1234) = 1x5+2x5+3x5+4x5> 0.5 Mark

= 125+50+15+4 0.5 Mark
=194 0.5 Mark
(1011} = 1x2+0x2Z+1x2+1x® 0.5 Mark
= 8+2+1 0.5 Mark
=11 0.5 Mark
(1234) +{335—(1011)}
=194 +{335- 11} 0.5 Mark
=194 + 324 0.5 Mark
= 518 Answer 1 Mark

Q.No.34.(a)Evaluate the following and express the answer intdecimal number system. 5)
-ufjufrw)d)ﬁd/Wlfylﬁ/}lQ/(Jaijg/ﬂ
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(b) Ayesha and Meerab started a business with Rs.Q800 and Rs.180000 respectively. (5)

After one year they earned profit of Rs.55000. Findhe share of each one in the profit
6Ll et B n B &3/550000F Lot LW Fegss180000.5 &5,150000 27 A6 Lii e 2 Hi
gL o

Ratios of capitale+’J*ust ~
Ayesha’s share : Meerab’s share

256 1 oz 0.5 mark
150000 . 180000 0.5 mark
15 . 18 0.5 mark
5 . 6 0.5 mark
Sum of ratiosss? sUs’ = 5+6=11 0.5 mark
Total profit ~ Cwf = Rs. 55000 0.5 mark
Ayesha’s profitz’f (g1n = 121 x5500C 0.5 mark
= Rs. 25000 0.5 mark
Meerub’s profit é’jk{.,/ = 1—61>< 5500C 0.5 mark
= Rs. 30000 0.5 mark

Q.No. 35. (a) Find two solutions for the equatior+5y=6
-u:/r}’”d‘?uﬁ X+5Y=6 c=tsl~

If y =0 then 0.5 Mark
x+50)=6 0.5 Mark

X=6 0.5 Mark
Ify =1 then 0.5 Mark
X+5=6 0.5 Mark
X=6-5 0.5 Mark

x=1 0.5 Mark

The two solutions of given equation are ,0Y6(1,1) —uFnlen-§Ss 0.5 Mark

(4)

(b) The price of 2 books and 4 pencils is Rs.160 W the price of 4 such books and
pencil is Rs.215. Find the price of one book and ermpencil.

e d S L U e s 215 2 SUH ol 4 S G e g 3160 =i SUtidmusi2

Suppose cost of 1 boakd {7} = Rs.x 0.5 Mark
Suppose cost of 1 pencilf U+ LIV 7} = Rs. y 0.5 Mark
Then by given conditiongyeZ s 2§

2x+4y = 160 ----------------- (1) 1 Mark

Ix+ y =215 ----m-ememmemee- (2) 1 Mark

Multiplying equation (1) by 2 =z s e 2/ (1) A =il

4x+8y = 320 ---------m--m-e-- (3) 1 Mark

Equation (3) — equation (2) => BRetslr — Q)zbsln

L (8)
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e T 7o J— (1)
-4xt y=-215 = e (2) 1.5 Mark
7y= 105
>
y=15
Cost of one pencité§* (i = Rs. 15 |
Now put y=15 in equation (2) = /%.s y=15% (Q)ebslr
4x + 15 =215 0.5 Mark
4x =215 - 15 0.5 Mark
4x =200
x =50
Cost of one booled {_("{i= Rs. 50 1.5 Marks
Q. No.36 (a) Construct a rhombus ABCD when AB =4cmand mAC =6cm. (5)
m AC =6cm s mAB =4cm £ iABCDy i
For drawing a line segmeAB of given length 1 mark
For drawing four correct arcs 2 marks
For the correct construction of rhombus 2 mark
. o ND P D, N C
A1 (& AB s ssding,
A2 45/ ] =il S
2 S e
A B
4cm
(b) Construct a kite ABCD where mAB =3cm, mBC=5cmand length of its longer (5)
diagonal = mAC =7cm.
dUEZsey = mAC=7cmsmBC=5cm, mAB =3cm £t ABCD & (i
For drawingAB of length 3cm (Z AB s S UG 0.5 mark
For drawing an arc with centre at B and LB S SS B | 1 mark
radius 5cm i
For drawing an arc with centre at A and o 63 S FT S A | L mark
radius 7cm which intersects the previous : . x .
arc at C. 3T CBIS
For drawing an arc with centre at Aant ;g 15 (i, 2 53 e AS S o A | 1 Mark
radius 3cm above A ° i
For drawing an arc with centre at C and A T2 B Sun &5 Sy | 1L mark
radius 5¢cm which intersects the arc : < 3 e
drawn from A at D < 3/Uy DS =
Joining C with B and D and A with D Libe DY A sie DBy C | 0.5 mark
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D 5cm

A 3cm B

Q.No: 37. (a) The height of a conical tent is 7 metre and radiusf its base is 6 metre. Find| (5)
the volume of air present in it. ( :% )

(= g )-q/rk”ﬁb/mwé-ta}-f6mub/g,wb“ul}-c‘7(5,«4:6/4"}’;}.{!

vl 1 Mark
3

:%(272](6)2(7) 2 Mark

=29 x 12 1 Mark

Volume of air¢ix = 264nf 1 Mark

b) Find the mean of the following frequency table.
-q/r#m@l;&);gé;p’&’tzég;é (5)

Class interval 55z 1-5 | 6-10 11-15 16-20 21-25
Frequency Iy 2 3 5 4 1
Class interval | Frequency | Mid values fx
55z ) (%)
1—5 2 3 6
6—10 3 8 24
11—15 S 13 65
16—20 4 18 72
21—25 1 23 23
Lf=15 Y, fx =190
X= Z 4 = 190 1 mark
f 15
X= 12.67 1 mark

Column-wise marks:
Frequency(f)=1 Mark, Mid values(x)=1 Mark ,fx =1 Mark
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